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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0 1 ® PHO L L
6.9
6. 8
6.7
6.6
Warning: col ['FVOPH' ] is missing

6.5 1 @ . 4 . 4 L 4 @ L 4 L 4

0 5 10 15 20 25




Trend plot forP3-14 0
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P3-14

BYIE) | BRI (B)) | s (EA/#R) | XS SRR

06:30 224 110.0 Be| B#ETF006:30 KHIEF (KAEESS)
09:10 224 110.0 i HRe09:10 REIFEF (RFEERES)
10:05 224 110.0 i FiH@10:05 REFEF (KREEER)
11:00 224 110.0 5 TiEH@11:00 REFEF (KHAERE)
11:55 224 110.0 i TiHf@11:55 REFEF (KRAERE)
12:50 224 110.0 [ Fnfe12:50 REFEF (REEREE)
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23t]1792.0 (8%) 880. 0 3253 %EC: 2080.0, PH: 5.6

unusual large postFgEt from yesterday (333), set to 330.0 ml.
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large discrepency for begining water status (287:177.0), set to 265.0 ml.
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10:45 190 100.0 | FB| fRi&e10:45 Fah (GRAERER)
12:25 190 100.0 RE| 1Ri%e12:25 Fz (REERE)
13:45 190 100.0 | BE| {Ri%@13:45 F31 CGRAMERESE)
15:15 190 100.0 BE| 1Rige15:15 Fzh GGREAEESE)
24111330.0 (7%) 700. 0 #2353 EC: 2080.0, PH: 5.6

TERRHERE STEEART (124.0 :

89.0), AIREAT—@% XAy

LRGEREE (190) 5748 (213. 0) FF, AR T & ARG EIRS £ X ER

PRIASLPRIEBE89. 0 ml.

REREBIEC (2600.0) 5i&7EEC (2000.0) REIK, BHE

HEERECE (2600. 0 vs 3946.0) FE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=26 (2025-04-26)

100 Fo———=—F——————F-—————F-—————F——————F-—————F-—————F——————F——————F——————f——————f—————]
VI, V83ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 1000
75 4720 744
636 64sl 750
550 3
50 1 L 500
25 - 250
92 Warning: lcol [FVI',| "FVO’'] missing 0
0 - -0
190 1" o 4 — ME B30
FRV ——  maxM
100 o ] L 28
(NN
1 1111 =
50_. p— . 2 A p— . l —26
I M —— Tme— - 24
o I 1 1 1 ¥ |
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 4 ByInit @D28 06:26: ET=718 Fg=1000. 0 Ro=195.0 #1900
1
1
200 - I - 1000
1
1
1
100 : - 500
p————& \ 4 @ — "

0 — & > W—— S ——— 0
300 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 1500
AL AL AL A A A A A A AN R A A A R

1
. . = = = 1

200 - ByEt @D26 18:38: ET=875 Fg=558. 0 Ro=nan ! L 1000
1
1

100 oo —e—e-Te—e—e—o—o |y
1
p—o—0—o—0 o —0— !

0 P S NS tﬂ—f’/ B 0
300 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 1500
BE | B | BB | B | BB | B [ | BB || B | FA 5 5 5 B REARE R ERERERRERRERRES

1
200 - ByWoFv @D28 06:26: ET=648 F4=700.0 Ro=2.0 L 1000
1
1
1
100 : - 500
66— 60—
1.0 e o P G 0
1 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
s B BB BB | % | B BEIZ=I P BB | % | BB | B5223-152152122132122152
0.6 -
0.4 1
0.2 A
0.0
1500 4 E— 4
[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



26. 25 A

26. 00

25.75 A

25. 50 ~

25. 25 A

25.

25.

25.

25.

25.

25.

24.

24.

28.

27.

27.

26.

26.

M_E

T T T
700 800 900

m=725,m FV0=0

T T
500 600

T o

M_E

i

750 755
m=515,n FV0=0

—— MW

5&0 555
m=785,n FV0=0

-— MW

il
i

790 795

25.

25.

25.

25.

25.

25.

25.

26.

25.

25.

25.

25.

25.

26.

25.

25.

24.

24,

28.

21.

27.

26.

26.

m=513, FV0=0

50

45 -

40 -

35 A

30 -

25

20

M_E

5é0 5&5
m=785,n FV0=0

T
515

—o— ME

760 7é5
m=605,n FV0=0

—o— MW

GiO 6%5
m=845,n FV0=0

605

- MW

845 850 855

25.

25.

25.

25.

25.

26.

26.

26.

26.

25.

25.

27.

26.

26.

25.

25.

m=605, FV0=0

—0—

M_E

6%0 6%5
m=845,n FV0=0

845

860 8%5
m=665,n FV0=0

—0—

M_W

665

670 675

m=665, FV0=0

25. 8 A

25.7 A

25.6

25.5 A

25. 4 -

—o—

M_E

665

T
670 675

28 -

27 A

26 -

25 A

24

M_w

T
500

T T
700 800

m=725,m FV0=0

T
600

900

27.5 -

27.0 A

26.5 -

26.0

25.5 A

—— MW

725

730 735




hour

100

:00 -
145
80
145
145 - 60
145
135 - 40
:20
20
140
115
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P3-14

Bre) | GEBRK (#) | EBE (EA/K) | XS R

06:45 240 90.0 [B=| 1Ri&e06:45 Fzh (KAEHE)
07:45 240 90.0 BE| 1Ri%e07:45 Fz (REERE)
08:45 240 90.0 BE| 1Ri%e08:45 Fx) (KRFERS)
09:45 240 90.0 | HE| f{Rig@09:45 Fzh (RFETRESE)
11:35 240 90.0 RE| 1Ri%e11:35 Fz (REAERSE)
13:20 240 90.0 Rg| 1Ri%e13:20 Fz (REEREE)
14:40 240 90.0 | 1Rige14:40 Fzh (GREAERESE)
16:15 240 90.0 BE| 1Ri%e16:15 Fz (REERSE)
24it]1920.0 (8%) 720.0 ¥ 33 %EC: 2080.0, PH: 5.6

TERRHEBR 2 STEEARTT (156

.0

: 113.0), AEEHT—HS X5

LRGERRETC (240) 5788 (191. 0) FF, FIREH T & REEIRS £ XER

ZRIASERRIERE113.0 ml.
MR i Bl RECE IR fR 5k .

BEREMEC (2580.0) S5i%EEC (2000.0) REL KA, /T
HE[EKECE (2580.0 vs 3916.0) 1B

RER BB HEREC/PH{ES L, 1

INA=A
REF2

M5B R 3R




P3-14_0, Day=25 (2025-04-25)

804 VI, VG3ERV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 936 - 1000
g0 20 720 Be78 | 750
40 - - 500
20 - 250
0 Warning: lcol [FVI',| "FVO’'] missing 92
200 7 )
v —— ME P30.0
L 150 - FRV maxM | o7 5
=
2100 - 25.0
E
= 50- L 22.5
[
F20.0
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
= 300 4By lnit @D28 06:26: ET=624 Fg=810.0 Ro=176.0 t
5 : - 1000
2200 - :
< 1
E ! - 500
£ 100 - !
i p o —& e e
| S W W W W — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
300 4 = = [ = 3 = = 3 3 = = = = = = = = = = = = = = =
’_D B B B B B B B B B B B B B B B B B B B B B B B B
c 1 B
s ByEt @D25 18:41: ET=700 Fg=678.0 Ro=nan I 1000
~ 200 A s & —6—6—©
< © & © & o
= ! - 500
£ 100 - !
—
o —0—0 00— i
L \ 1
0 __a P S 4—4.——4~:r//// I— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
= SOTR [ | % | B |25l25 25 B | & | & i 5 5 5 i 5 5 5 i 5 5 5 i 5
& ! - 1000
% ByWoFv @D28 06:26: ET=588 F4=720.0 Ro=0.0
< 200 A "
< 1
E ! - 500
£ 100 - !
i p—— — & — 6 &——6—
1
1' 0 i NN WS- - P=N S 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
08 B 5 | B | B [Z=|Z=|2=| B | B | B i 5 5 5 i 5 5 5 i 5 5 5 i 5
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1500 (] | _obs
PPFD_obs
o M # . e v f

FRV (ml d-1)

I-ul
=

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



1.

23.

23.

22.

22.

m=515, FV0=0

- M_E 20. 20 - - M_E
26
20. 18 A
24 20. 16 A
20. 14 A
22
20.12 A
20 | gD O 20.10
T T T T T T T
500 600 700 800 900 515 520 525
m=725,m FV0=0 m=785,m FV0=0
0 25. 25
—&— ME
g 4 25. 00 A
N, 24.75 -
24. 50 A
4 -
24. 25 A
2 -
Warning: col ["M_E’] missing 24. 00 -
0 T T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0 785 790 795
m=515, FV0=0 m=605,m FV0=0
1.0
—-— MW
5 -
0. 8 1
0 0.6 -
5 0.4 1
0.2 A
0 Warning: col "MW ] missing
T T T O- 0 T T T T
515 520 525 0.0 0.2 0.4 0.6 0.8 1.
m=785,m FV0=0 m=845, FV0=0
- MW - MW
31 9 31.0
30. 5 1
30
30. 0 A
29.5 A
29 -
29.0 A
28 28.5 A
785 790 795 845 850 855

26.

26.

26.

26.

25.

m=605, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=845, FV0=0

—_

—o— M_E

T
845

SéO 865
m=665,n FV0=0

29 A

28 A

27 A

26 -

25 A

24 -

—0—

M_W

670 672

m

666 668

674

m=665, FV0=0
21.0 A —o— ME
20.5 A
20.0 *—o—0—0—0—0—0—0—0—9
19.5 A
19.0

T T T
670 672 674

m

T T
666 668

30 A

28 -

26 -

24

22 A

—o— MW

s

1.0

T T
700 800

m=725,m FV0=0

T T
500 600

900

0.8 A

0.6

0.4 A

0.2 A

Warning: col "MW ] missing

0.0
0.

0 0.2 0.4 0.6

0.8 1.

0



hour

100

00 -
30
80
30
30 - 60
30
:05 - 40
:50
20
:15
:55
1 1 1 1 1 1 1 _O
IS AN N, % NS
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P3-14

RTiE) | EBIATK (7)) | EBE (EH/HK) | XKR R

06:30 240 80.0 BE| {Ri%e06:30 Fz (REAEHE)
07:30 240 80.0 RS {Ri%@07:30 Fzi (KREEESE)
08:30 240 80.0 5| {Ri%@08:30 Fzi (KRHEEEE)
09:30 240 80.0 B 1Ri%@09:30 Fzi (KREAEESE)
11:05 240 80.0 RS Ri&e11:05 Fzi1 (REAEESR)
12:50 240 80.0 RS {Rige12:50 Fzf (REERE)
14:15 240 80.0 B Rige14:15 Fzh (REERSE)
15:55 240 80.0 | 1Rige15:55 Fzh (RAMEHSE)
=21t 1920.0 (8X%) 640. 0 3 WHKEC: 2080.0, PH: 5.6

TEREHEBR 2 STEEARTF (156.0 :

ZRIASERRIERE106.0 ml.
MR i Bl RECE IR fR 5k .

106.0), FIEEHT—@ % XA HS
LRGERREC (240) 5748 (182. 0) FF, FIREH T & MREEIRS £ XER

BEREMEC (2594.0) 5i%EEC (2000.0) REL KA, /T

3 [E/HECE (2594. 0 vs 3888.0)
RE R EBL I HEREC/PHERRR, ATRER

M5B R 3R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=24 (2025-04-24)

80 Fr—————F——————F——————F-—————Fc—————F-—————F—— -~ ———F——————F-———=—F=——=—]
VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 936 1000
60 720 L
70263 636 750
510 09
40 - L 500
20 A - 250
0 Warning: lcol [FVI',| "FVO’'] missing 0
200 - 80
( o v — ME P
150 - FRV maxM
- 25
0. - ] ] "
e e ;
50 - i i i i 20
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
gbg ! 1000
1 BylInit @D28 06:26: ET=340 Fg=450.0 Ro=118.0 i
: - 750
200 ~ 1
! —o——0o—© i
! oo o o 500
100 1
e —& o & o & - 250
1
0 PR N P 0
300 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 1000
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i 5 5 i i 5 5 i i 5 G A B 5 G A B 5 G A B 5 G A
1
o00 | BYEt @D24 18:42: ET=346 Fg=636.0 Ro=nan 750
: © @ ©
1 - 500
1
100 ~ : 250
—o—6—0—0— |
1
0 P s o o o N \\F 0
300 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 1000
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i 5 5 i i 5 5 i i 5 G A B 5 G A B 5 G A B 5 G A
1
200 ByWoFv @D28 06:26: ET=509 Fg=640.0 Ro=2.0 750
1
1 - 500
1
100 1
p——0——0——0— - 250
1.0 P P U S SN ﬁ \I/ \¥ 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 4 5 | BB | BB | BB | B ||| B|KE| B i 5 5 5 i 5 5 5 i 5 5 5 i 5
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_ A
[ ] | _obs
1000 + —@— PPFD obs
500 A
0
T 4
o T obs
20 1 o To_obs

10

60

40

20

RH
[ ] RH_obs
RHo obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



18.

18.

18.

17.

17.

17.

17.

17.

17.

17.

17.

50 A

25 -

00 -

75 1

50 A

25 -

M_E

T T T
700 800 900

m=725,m FV0=0

T T
500 600

60

55 -

50 A

45

40 ~

—o— M_E

i

750 755
m=515,n FV0=0

18. 2

18.1 4

18. 0

17.9 A

17.8

5&0 555
m=785,n FV0=0

25 A

24 -

23 A

22 -

-0 MW

i

790 795

m=513, FV0=0

19.0 4 —
18.5 1
-0-0-0-0-0-0-0-0-0-0-0-0-0-0
18.0 1
17.5 1
T T T
515 520 525
m=785,m FV0=0
17. 40 4 o NE
17.38 4
17. 36 1
17.34 4
17.32 4
17.30 4
T T T
785 790 795
m=605,m FV0=0
19.50 1 —€— MW
19. 25 4
19. 00 1
18.75 1
18.50 4
18. 25 4
605 610 615
m=845,m FV0=0
—o— MW
27 -
26 -
25 -
24 -
845 850 855

17.

17.

17.

17.

17.

17.

18.

17.

17.

17.

17.

m=605, FV0=0

90 A

88

86

84 -

82

80 A

—0—

M_E

6i0
m=845,n FV0=0

T
615

00 ~

95 -

90 ~

85 -

80 ~

845

860
m=665,n FV0=0

T
855

21.5 A

21.0

20. 5

20.0 -

19.5

—o—

M_W

665

670

675

17.

17.

17.

17.

17.

17.

m=665, FV0=0

70

68

66 -

64 -

62

60 -

—o—

M_E

665

T
670

675

28

26 -

24

22 -

20 -

18

M_w

T T
500 600

700
m=725,n FV0=0

T
800

900

23.5 A

23.0 A

22.5 A

22.0 A

21.5 A

21.0 A

—o— MW

725

730

735



